

I fracción Impropia A n° mixto.

$$1) \frac{32}{4} = 32 \div 4 = 8$$

$$2) \frac{23}{3} = 23 \div 3 = 7 \frac{2}{3}$$

$$3) \frac{12}{5} = 12 \div 5 = 2 \frac{2}{5}$$

$$4) \frac{45}{7} = 45 \div 7 = 6 \frac{3}{7}$$

$$5) \frac{5}{2} = 5 \div 2 = 2 \frac{1}{2}$$

$$6) \frac{32}{4} = 32 \div 4 = 8$$

N° mixto A fracción

$$7) 3 \frac{4}{5} = \frac{3 \cdot 5 + 4}{5} = \frac{19}{5}$$

$$8) 6 \frac{2}{4} = \frac{6 \cdot 4 + 2}{4} = \frac{26}{4}$$

$$9) 2 \frac{12}{7} = \frac{2 \cdot 7 + 12}{7} = \frac{26}{7}$$

$$10) 8 \frac{3}{5} = \frac{8 \cdot 5 + 3}{5} = \frac{43}{5}$$

$$11) 1 \frac{9}{15} = \frac{1 \cdot 15 + 9}{15} = \frac{24}{15}$$

$$12) 4 \frac{5}{7} = \frac{4 \cdot 7 + 5}{7} = \frac{33}{7}$$

II Resolver:


$$13) \frac{5}{7} + \frac{4}{7} = \frac{9}{7}$$


$$14) \frac{15}{5} + \frac{2}{5} = \frac{17}{5}$$


$$15) \frac{12}{14} - \frac{4}{14} = \frac{8}{14}$$


$$16) \frac{7}{8} - \frac{4}{8} = \frac{3}{8}$$


V Resuelve cada ejercicio y grafica


$$17) \frac{3}{4} - \frac{1}{4} = \frac{2}{4} \rightarrow$$


$$18) \frac{1}{3} + \frac{2}{3} = \frac{3}{3} = 1 \rightarrow$$


$$19) \frac{10}{6} - \frac{5}{6} = \frac{5}{6} \rightarrow$$


$$20) \frac{6}{10} + \frac{3}{10} = \frac{9}{10} \rightarrow$$


$$21) \frac{10}{8} - \frac{5}{8} = \frac{5}{8} \rightarrow$$


$$22) \frac{4}{9} + \frac{1}{9} = \frac{5}{9} \rightarrow$$


V Resolver

23)  $\frac{2}{9} + \frac{4}{3} =$ 

9	3	3
3	1	3
1	1	

 $> 3 \cdot 3 = 9$  *M.C.M.*  $\frac{2}{9} + \frac{12}{9} = \frac{14}{9}$

24)  $\frac{5}{2} - \frac{1}{4} =$ 

2	4	2
1	2	2
1	1	

 $> 2 \cdot 2 = 4$  *M.C.M.*  $\frac{10}{4} - \frac{1}{4} = \frac{9}{4}$

25)  $\frac{4}{5} + \frac{3}{10} =$ 

5	10	5
1	2	2
1	1	

 $> 10$  *M.C.M.*  $\frac{8}{10} + \frac{3}{10} = \frac{11}{10}$

26)  $\frac{1}{2} - \frac{6}{8} =$ 

2	8	2
1	4	4
1	1	

 $> 8$  *M.C.M.*  $\frac{4}{8} - \frac{6}{8} = -\frac{2}{8} = -\frac{1}{4}$

27)  $\frac{4}{3} + \frac{2}{5} =$ 

3	5	3
1	5	5
1	1	

 $> 15$  *M.C.M.*  $\frac{20}{15} + \frac{6}{15} = \frac{26}{15}$

28)  $\frac{2}{3} - \frac{1}{7} =$ 

3	7	3
1	7	7
1	1	

 $> 21$  *M.C.M.*  $\frac{14}{21} - \frac{3}{21} = \frac{11}{21}$

29)  $\frac{4}{3} + \frac{1}{6} =$ 

3	6	3
1	2	2
1	1	

 $> 6$  *M.C.M.*  $\frac{8}{6} + \frac{1}{6} = \frac{9}{6}$

30)  $\frac{4}{2} - \frac{1}{4} =$ 

2	4	2
1	2	2
1	1	

 $> 4$  *M.C.M.*  $\frac{8}{4} - \frac{1}{4} = \frac{7}{4}$